FUBAG

BS 7500 (568253)

, KO/ Ha3BaHHe KO0JI-BO
1 2.51.03.001100 pplyar 1
2 2.63.01.00371 npokiaaka 8%17*1 2
3 2.51.17.002300 caJlbHUK 8*14*5 1
4 2.63.02.006400 nmoamuIHuK 6202 1
5 2.63.01.01567 mmaHT 2000-1%6.5 1
6 2.51.04.000700 KOMMYTaTop 1
7 2.63.01.00191 6onT M6*16 2
8 2.51.04.000300 JAaTYUK Macia 1
9 2.63.01.01717 6ot cauBHOM M12%15%*1.5 2
10 2.63.01.00845 MPOKJIAKa aTFOMIHHIEBast 12*20%2 2
11 2.51.01.009900 Kaprtep 1
12 2.51.17.002000 callbHUK 35%*52*8 1
13 2.63.01.01756 6ot M6*12 1
14 2.62.01.000500 OJIOK PE3MHOBBIN 1
15 2.62.01.003000 3aKUM 1




HOMep

/i KOJI Ha3BaHHe KOJI-BO
1 2.56.08.002800 KpbIIIKA IBUTATENS 1
2 2.63.01.01806 6ont M5*12 1
3 2.60.01.004000 IIPOKJIAJKA KPBILIKK KapTepa 1
4 2.63.01.00404 mtudT 8*14 2
5 2.63.02.006100 noaumHuk 6207 1
6 2.63.02.006400 noaumimHuk 6202 1
7 2.51.17.002000 calbHUK 35*52*8 1
8 2.63.01.01814 6oaT M8*40 7
9 2.56.08.000500 0JIOK MOTOPHBIT 1
10 2.62.01.012700 0JIOK MOTOPHBIT 1
11 2.51.02.001200 PEryJIATOp CKOPOCTH Tepeaay 1
12 2.51.05.002900 KpBIIIIKa KapTepa 1
13 2.51.06.001100 Iy 1




HOMep

w/n KO/ Ha3BaHMe KO0.JI-BO
1 7.63.01.01569 60T M6*61 KpBIIIKH TOTOBKU 1
LWIMH]Ipa
2 2.50.01.005200 KPpBIIIKa FOJIOBKH LIMJIMH]IpA 1
3 7.60.09.000200 MPOKJIaIKa KPHIIIKHA TOJIOBKU OJI0Ka 1
WINHIPOB
4 2.50.13.000200 TpyOKa camyHa 1
5 2.50.05.001400 KopombIciia (Habop) 2
6 2.50.09.001400 cyxapb 2
7 2.50.09.000600 MpY’KUHA KJIarmaHa 2
8 2.50.09.000400 MpY’KUHA KJIaraHa 2
9 2.50.09.000700 IpyXHUHA KJlalaHa 1
10 2.50.10.000200 MPOKJIa/IKa BITyCKHOTO KJIallaHa 1
11 2.63.01.01780 6oat M10*85*1.25 4
12 2.63.01.01053 6oaT M8*34 2
13 2.53.06.000200 cBeya 3axuranus F7TC 1
14 2.50.04.001200 KJIallaH BBIITYCKHOMN 1
15 2.50.03.001700 KJIallaH BITyCKHOM 1
16 2.60.08.004900 MPOKJIAJKA TOJIOBKH OJIOKA IUIHH]IPOB 1
17 2.50.02.004100 TOJIOBKa OJI0Ka IUIUHAPOB 1
18 2.63.01.00925 6ont crepxkHsa 6-8*110 2
19 2.52.06.001600 KOXYX 1
20 2.63.01.01756 6ont M6*12 1
21 2.50.06.000200 MJIaCTUHA 1




22

2.63.01.00405

mrugt 12*20

HOMeEp

/i KO Ha3BaHHe K0JI-BO
1 2.50.11.009500 (GUIBTP BO3AYIIHBII 1
2 2.63.01.00291 raiika M6 2
3 2.60.02.000300 IPOKJIaIKa 1
4 2.55.02.001100 ajanrep kapOropaTtopa 1
5 2.60.04.000300 MpOKJIaKa KapOoroparopa 1
6 2.55.01.003500 KapOroparop 1
7 2.60.05.000300 MPOKJIaKa BO3AYIIHOTO (PUIIBTPA 1




HOMep

/o KO Ha3BaHue KOJI-BO
1 2.53.02.000400 T — 1
2 2.63.01.00914 ot M6*25 2
3 2.53.01.000200 MAXOBHK 1
4 2.52.04.000300 BEHTUJIATOP OXJIAXKICHUS 1
5 2.52.03.002700 craxaH craprepa 1
6 2.63.01.01572 raitca M16*1.5 1
7 2.63.01.01756 ot M6*12 1
8 2.52.01.114000 craprep 1

HOMep

w/n KO/ Ha3BaHHe K0JI-BO
1 2.50.07.001700 wary 2
2 2.50.08.000300 TomKarens 46mm 2
3 2.51.11.003100 Ha0Op MOPIIHEBBIX KOJIELL 1
4 2.51.08.003700 TOpIIEHb 1
5 2.51.10.000300 CTOIOPHOE KONBLO 2
6 2.51.09.000200 naser nopiss 14.8%*(920%62 1
7 2.51.12.002400 waryn 111.5mm 1
8 2.51.16.005000 pacmpensal 1
9 2.51.14.000200 1

Oama"cup




10

2.51.15.019500

KOJICHBaJI

Hﬁ;"rfp KO/ Ha3BaHHe KO0./1-BO
1 2.63.01.01756 Gont M6*12 2
2 2.54.01.009800 . . 1

YIIPABJISIONIAst IPOCCENBHOI 3aCIIOHKOM
3 2.54.02.003500 py’KuHa apoccenbHas ¢1.5%40.75 A 1
135mm
4 2.54.02.000600 npy>kuHa JipoccenbHas ¢0.4*31.75 B 1
217mm
5 2.63.01.00291 raiika M6 !
6 2.63.01.00124 Gorr M6*21 1
7 2.54.04.003500 1

peryaarop ckopoctu 2.2MM

2.54.03.002300

phlYar IpoccebHOM 3aCIOHKH




h
=0
Homep KOJL Ha3BaHHe KOJI-BO
n/n
1 2.60.03.000300 MIPOKJIA]IKA BBIXJIOMTHOUW TPYOBI 1
3 2.63.01.02743 Gonr M8*32 2
4 2.63.01.01705 waiiba npyxuHHAS O3 2
5 2.63.01.00287 raiika M8 2
6 2.63.01.01705 1waiiba mpyKUHHAS (8 2
7 2.63.01.02093 1aii6a mIocKases 2
8 2.60.06.000600 IPOK/IA/IKA [Ty IHTEs] 1
9 2.50.12.027700 1
DIymuresb 165mm

10 2.50.15.000800 KPOHILTEHH [Ty LIHTENs 1
11 2.63.01.01808 Gont M8*16 4
12 2.63.01.01756 Gont M6*12 1
13 2.50.14.000600 1

KPOHIITEHH BO3YIIHOTO (DMIIBTPA




HOMep

n/n KO Ha3BaHue KOJI-BO
1 2.63.01.01888 ot M6*200 4
2 2.56.05.000100 CYIIOPT abTepHATOpa 1
3 2.56.03.000803 KUTEMMHAs KOJTOMKA 1
4 | 2.62.01.001000 pOBO 2
5 2.63.01.01806 ot M5*12 5
6 2.56.04.000100 ABP 230V 1
7 2.60.10.002900 npoxnazKa $6.2*D10%0.8 2
8 2.63.01.01806 ot M5*12 2
9 2.56.07.011700 KpBIIIIKA FeHepaTOpa 1
10 | 2.63.01.00163-1 ot M5*16 2
11 2.63.01.01811 AT ——— 1
12 2.63.01.00446 npoxnaKa 5S*10*1 1
13 | 2.56.03.016901 cTatop 1 poTop 1
14 | 2.63.01.00163-1 ot M5*16 1
15 | 2.56.03.000802 meToTHEH 3o 1
16 2.63.01.00789 ot M5*240 2
17 2.63.01.01887 S0t M10%290 1
18 2.63.01.02095 1

maiiba npyxuaHast @10




19

2.63.01.00444-1

maitba mwrockas 10*30%*4

~ 4 e @ _

@//ﬁf\ o> _® @% %5\ - b Oh

. )4)) /!/jj

Homep KoJ Ha3BaHHUe KOJI1-BO

n/n

1 2.57.01.064900 pama 425mm/32mm 1
2 2.57.04.039100 KPOHILITEHH 2
3 2.61.04.003900 olopa JABUraTels 2
4 2.63.01.00287 raiika M8 2
5 2.63.01.01762 raiika M10%1.25 6
6 2.63.01.03103 6ot M10%40%1 .25 2
7 2.63.01.03102 suHT M8*16 2
8 2.61.05.001301 pamka Onoka Gamnepa (yeBas) 2
9 2.61.05.001302 pamka 610ka 6amnepa (mpaBasi) 2
10 2.61.05.002600 oropa cynmnopra 1
11 2.63.01.01756 6ot M6*12 4
12 2.61.05.005900 HOJKKA PE3HHOBAs 1
13 2.63.01.01777 raiika M10 2
14 2.63.01.00287 raiika MS 4
15 2.61.05.006000 sarymka ©10.5 4




3aKUM

-
@
:;9';: s ' 9
Homep KO/l Ha3BaHHe KO0J1-BO
n/n
1 2.55.05.091100 4
TOIUIMBHBIN 0aK
2 2.55.05.030701 JIATIMK YPOBHS TOIUINBA 1
3 2.55.05.024801 KpBILIKA TOIJIMBHOTO Oaka 1
4 2.55.05.026001 duibTp 1
5 2.63.01.00914 6ot M6*25 4
6 2.63.01.01812 npokiIaaKa 6*25%2 4
7 2.55.08.000700 T — 1
8 2.55.06.015200 nutanr 4.5*8%180 1
9 2.55.07.003200 2




HOMep

KOJI-

/i KOJ HAa3BaHHe 5o
nanenb B coope GPD-01/DV0302/T-1-

1 2.56.01.178400 SKW/230V 1
2 2.56.01.037101 3a/IHsIs1 KpBILLIKA TaHENN 1
3 2.56.01.157101 JacTh HaHEIHN 1
5 2.56.01.157302 muceit GPD-01 1
6 2.56.01.177401 BBIKJTIOUATENH 29.5A/ 1
7 2.56.01.042304 po3etrka EBPO 2
8 2.56.01.050201 CUJIOBas pO3eTKa 1
9 2.56.01.157102 samura AC 16A 2
10 2.56.01.158003 00JIT 3a3eMJICHUS C TalKO 1
11 2.57.04.044900 MaHEeJIb BEPXHSA 1
12 2.63.01.01756 0oatr M6*12 3
13 2.63.01.00291 raiika M6 9




